BH79J202H01

INSTALLATION MANUAL FOR A-M CONVERTER

PAC-IFO1IMNT-E

For models in which this component is used, see the separate sheet.

SAFETY PRECAUTIONS

eBefore starting installation, read the "Safety Precautions" described below.
*The following precautions must be observed as it describes the serious matters for safety.
*The safety precautions are described with the degree of danger.

AWARNING When you handle wrong, it can lead to death or serious injury.

ACAUTION When you handle wrong, it can lead to injury or damage to building and furniture.

1

sAfter installation, make test operation and confirm that it works properly, and explain the safety precautions, operation method, and

maintenance to your customers.

Tell your customers to keep this installation manual together with operation manual with them, and when they give or sell this machine
to other person put this installation manual and operation manual with it.

s N
(" The installation must be done by dealer or qualified person. ) ( The wiring must be securely done by using proper cable. The wires should W
«If the customers do the installation by themselves and it is not perfectly be connected to the terminals not to have external force of the cable.
installed it can cause water leak, electric shock, or fire. ) L-Faulty connections can cause heat or fire. J
(" The installation must be done in accordance with this manual. ) ( The terminal cover (panel) of the unit must be installed securely. W
«If the installation is not perfectly done, it can cause water leak, electric L-Faulty installation can cause fire or electric shock by dust or water. J
L shock, or fire. )
The electric installation must be done by qualified person in accordance
Never try any modification. with this installation manual. Use the separate circuit only for this machine
«For repair, ask your dealer. and use rated voltage and circuit breaker.
:L;’Le Q:;?ilgzri)gstoT(f)i?éfIEd or repaired completely, it can cause water «If the electric circuit power is not sufficient or the wiring is not properly
! ’ i ) done, it can cause electric shock or fire.
(" Never move or reinstall the machine by the customers. )
«If the installation is not perfectly done, it can cause water leak, electric
shock, or fire. Ask your dealer or qualified person. )
N J
Before electric wiring
(Install a circuit breaker depending upon the location. ) (_Put ground wire. )
L-Without a circuit breaker, it can cause electric shock. *Never ground to gas pipe, water pipe, lightning conductor, or
telephone ground wire.
( Use standard wires which meet current capacity. Faulty ground can cause short-circuit.
L-Otherwise, it can cause short-circuit, heat, or fire.
( Use proper fuses \
(_ Wires must not have tension. L-If you use larger size fuses or needle wire, it can cause failure or fire. J
L-It can cause snipping, heat, or fire.
N J
Before test operation
(" Tumn the power on 12 hours or more before operation. ) ( Never operate the switches with your hand wet. \
«If you start operation as soon as the power on, it can cause failure. L’lt can cause electric shock. J
Never turn the power off during season.
5 / ( Never touch refrigerant pipes while the machine running. ]
s 5 5
Never operate the machine without panel or guard off. «The refrigerant pipes becomes high and low temperature while the
«It can cause serious injury being caught by rotating part or burn or machine running. If you touch the pipes by hand, it can cause chilblain
L electric shock by high voltage part. ) or burn.
(_Never operate the machine without air filter off. ) (_Never turn the power off as soon as the machine stops. )
L.n can cause failure by dust. J L-Wait for 5 minutes or more. It can cause water leak or failure. J



http://planetaklimata.com.ua/ua/catalog/lineup/?goodsid=1108&path=root-11-10-186-1108

Attention for M-NET connection

Pay attention to the next points for wiring of shielded wires.

/N CAUTION

&

The shielded wires of M-NET transmission should be
connected with the ground wire at any only one place
of the unit to be connected.

*It can cause the transmission error due to noise.

Centralized control remote controller reads “0403” “6607" error.

J

Bad example (Multiple ground of shielded wire) Good example (One spot ground of shielded wire)
System Power supply | - Outdoor Outdoor System Power supply [ [ Outdoor Outdoor
controller | |unit unit (%1) unit (%1) controller | [unit unit (%) unit (%1)
M-NET transmit wire NO NO NO M-NET transmit wire OK
Good example (One spot ground of shielded wire)
System Power supply | [ Outdoor Outdoor
controller | [unit unit (%1) unit (%1)
7 : (%2)
M-NET transmit wire OK (x2) VLNET Dﬂgﬂg ‘i Ground wire
. . . terminal block i (accessory)
(*1) Refer to the appendix List of Models to check the applicable models. P 3
(*2) In case that the outdoor unit is grounded, connect the ground ‘ &
wire supplied as accessory to the S terminal (secondary) G
of M-NET terminal block and M-NET Ground terminal inside of Transmit  Shielded
wire wire

electric box with using screws supplied.

(%3) If the shield and earth are grounded in two or more locations, electrical circuit is generated through them, and a potential
difference is created because of the impedance difference between or among the ground locations. This may cause noise
in the shield. Ground at only one point, then no circuit is created and no noise gets in.

1.Parts List

(*1) Refer to the appendix List of Models to check the applicable models.

No.| Description Figure Qty Ap}[&licable mogels
&7 oo 1]
(D |M-NET Board 0o O og 1 O O
o | P g]‘ . | o
® | Screw (M3x10) & 2 O
| Terminal block = )
@ (M-NET) llel=] 1 O O
& | Terminal screw '
] (Max2s) @@ = 1 O O
CENTRALIZED CONTROL
® |Label M1|M2] S 1 O O
BG79H744H03
Color:Red  Color:White
- | Lead wire-A —~
D | (& wires) W _ 1 O @)
Length:380mm(15 in)
. | Lead wire-B /”//A\§
® . = 1 O O
(2 wires) %/ )
& Length:530mm(21 in)
Ground wire —0)
@ |and screw / & 1each O O
(M4x8) & Length:200mm(8 in)
(0 |Fastener (EOIPO00000000000000000—= 2 O O




2. Wiring method for M-NET

|Caution for wiring |

@ Never supply voltage 208V-230VAC to the terminals for M-NET transmission. If the voltage is supplied,
it can break the electronic parts on the M-NET board.

® Use the shielded cable (CVVS, CPEVS, MVVS) of 1.25mm2 (AWG 16) with 2 wires (polarity is
not a concern) for the transmission cable.
Never use transmit wires of different system with a cable which contains multi wires.
The communication of transmit signals will not work properly and it can cause wrong operation.

® The power consumption coefficient *Lof the M-NET board is “1”.

%1 “Power consumption coefficient” is a coefficient to calculate the relative power
consumption of the devices that receive power through the M-NET transmission cable.

Power supply
unit
for transmit

L
[alB]s] =
; Outdoor unit .
A unit HH  Indoor unit H MA
System M-NET board
controller [&]
BunitffH Indoor unit HH MA
| \15
! ,
fa— Cunittgl  Indoor unit HH MA

Dunitbpll  \ndoor unit  HH MA

| RC

E unit ;
200m (656 ft) or less ffH Indoor unit

¥ EX)MXZ-5E102VA indoor units maximum connection.

Outdoor unit

\% C ™ M-NET board
___________ s AunitHfH Indoor unit HH MA

Bunitbiyl  indoor unit  HH MA

Cunittl  |ndoor unit  HH MA

Dunitl{fH Indoor unit w| RC

MA : MA remote controller
RC :Wireless remote controller % EX)MXZ-4E83VA indoor units maximum connection.



http://planetaklimata.com.ua/catalog/lineup/?goodsid=908&path=root-8-10-56-908
http://planetaklimata.com.ua/catalog/lineup/?goodsid=908&path=root-8-10-56-908

3.Switch setting

M-NET board

| Before installation |

| install (220 00z
Set M-NET address on M-NET board in advance before installing on the [ ?@ . DE“-.-D
og " & ':

electrical box. VH)]}SD D §© D

i oo ==
(1) M-NET head address setting

The setting should be done by rotary switches SW11 and SW12 M-NET address No. | 1 2 50
on M-NET board. (Factory settings are all Zero) swit |58 | [ TN
Make sure to set M-NET address within the range of 01 to 50. When switcn| 199 |R | KA | K
. . . settin
installing two or more outdoor units, do not use the same number more " swi ENIER B2
10 digit) | |2 | | [ 55
than once for M-NET address. (0dgn | (K7 82 =
Connection Setting
ON
(2) Indoor unit connection switch setting Switch o EEE?EEDQ
Set each indoor unit to ON or OFF with SW1. SN ndmerconnact
OFF 0 connection
Setting | [___swa[-1]2]-3 ] [-s] [en]ce)
#M-NET address setting [ndoorun] Afe fefo]EJF] -] ]
. . . (SW1-7,8 not use)
Starting with the M-NET head address set with SW11 and SW12 (Ex 01),
the M-NET address is automatically allocated in numerical order to each indoor
unit which is connected (Ex 02, 03, 04, 05, 06).
Ex1) Ex2)
T [
O =90
M-NET head address M-NET head address
Swi12 SWi11l Swi12 Swiil
01 07
u is the switch position u is the switch position
Indoor unit M el Indoor unit Bl
connection setting TZ3TERTE connection setting Lt
Swi Swi
Indoor connect A,B,C,D,E.F Indoor connect B,D,E,F
SW1-1,2,3,4,5,6 ON SW1-2,45,6 ON
$ $
[indoorunit — TaJeJc[o[e[F] [indoorunit  Tals[cIo]e[F]
[M-NETaddress [ 1 [2 [3 4[5 ] [MNETaddress [ - [7[-Je]o[uo]

+An example of M-NET address setting

Power supply unit
for transmit cable

L
[A]B]S] =
A}

Outdoor unit

s M-NET board
hrolie ele
controller |B] N5/ 9 A unit A unit address = Head address = 01

SWILSW12(01] B unit Indoor unit B unit address = Head address + 1 = 02

oN . = |
OFF HHHHHHDD C unit -IH Indoor unit C unit address = Head address + 2 = 03

72345678 . = |
SW1-1.2345 ON D unit -IIH Indoor unit D unit address = Head address + 3 = 04
E unit Indoor unit ‘ E unit address = Head address + 4 = 05

* Ex)MXZ-5E102VA

Outdoor unit

M-NET r
L S board

50
r’l" . ) )
Y Aunit | None A unit address = No connection

SW11,SW12(06] B unit B unit address = Head address = 06
o .
OFF HHHHHHDD C unit | None C unit address = No connection
12345678 .
SW1-2.45ON D unit Indoor unit D unit address = Head address + 1 = 07
E unit Indoor unit E unit address = Head address + 2 = 08

X EXMXZ SE102VA

M-NET address should be set within the range of 01 to 50.
For instance, when the head address set with SW11 and SW12 is [47] and you are to connect 5 indoor units A, B, C, D, E, the
addresses for each indoor unit are A[47], B[48], C[49], D[50] and E[51]. Since the number for E exceeds 50, this setting is not available.



3.Switch setting

(3) SW1-8 setting

SWl'.S Function Function details Inm‘."" Eﬁegtlve
Selection setting | timing
Turn the switch ON when MA remote controller or wireless remote
controller is connected to indoor unit.
¢ M-NET )
ON
| |M-NET board Wl RC I <FUNCTION>
System SW1-8 ON OR Set the connection of MA-
o controller Indoor remote controller or
OFF HHHHHHHH Outdoor —1 MA wireless remote controller
12345678 to the indoor unit.
o osSw1 ON : exist (initial setting)
= IpSotSf}EOSr\]N ftch MA : MA remote controller OFF : not exist
RC : wireless remote controller
<NOTE> ON Always
Turn the s_thch OFF when MA |_'emote co_ntroller or wireless remote In case of switch is ON,
controller is NOT connected to indoor unit. transmission error between
4% M-NET board and system
OFF NTNET board controllers does not be
— detected, and M-NET board
- System SW1-8 OFF operates continuously.
o controller Indoor
OFF HHHHHHW Outdoor
723456738
SWA1
M is the switch
position

(4) Group setting prohibited
Group setting for more than one outdoor unit is not available. (Each outdoor unit is one group.)

[Good example]

Power supply unit
for transmit cable

system
controller

A

[Bad example]

Outdoor unit

aj M-NET board JAunitf#{indoor unit] ¢ Group A
iz e B
iCuni { Group C
Duni { Group D
{E unit }GroupE

Power supply unit
for transmit cable

Outdoor unit

M-NET board

system
controller

a




4. Installation procedure [ Applicable model:Group A

[ Front view ]

(Note 1) See the Caution on page 2
®Ground wire and screw

[ Side view ]

/

1 |8 Install the (DM-NET Board to which the

/
@®Terminal block /
®Terminal Screw
(M4x25)

[6] ®Label

Control P.C. board

Screw
Control P.C. board holder ]

Control P.C. board holder (Back)

@OM-NET board ®Lead wire-B

'//CNzM
O O [ Q’
DQJJD@EIE'

v H
. £
= |=|=O|:| : E’é ﬁ I
L £ '
ot D
[] |:||:|‘:|:|" _CN5

DLead wire-A OM-NET board @Screw
(M3x10)
[8]@Lead wire-B @Terminal block
[*%1]
AN \\
e\
=TS
W
@Lead wire-A Ve
NG : n;gnm:fmxh
™~
Q 00 [0 0 [0 @0
CN741 ~ T T
T~ Som
g}
[ﬂ m ::_i']gl:lm
Control P.C. board ~L| o= s O
~ i = [ﬂ
Sy=c e Ry ail
o e
==0EES, (I
— (a1 B Zmnl ] |
@ ;':D]ug EE" gmﬁ 0 [0 [Om -
g r—

[*1] Pass @Lead wire-A and (®Lead wire-B through the upper clips (left side) on the
control P.C. board holder.

[%2] Pass ®Lead wire-B through the notch in the top of the terminal block metal plate.

Remove the three screws and remove
the control P.C. board holder.

Attach @) Lead wire-A to CN5 (Color: White)
on the ®WM-NET Board and ®Lead wire-B
to CN2M (Color: White) on the ®OM-NET
Board.

wires were attached in the previous step

to the back of the control P.C. board holder

with the @Fixture and ®Screw (M3 x 10).

%Set the addresses on the (OM-NET Board
before installing into the electrical parts box.

%Be sure that the M-NET board is installed
in the correct orientation (so that the CN2M
is upwards and CN5 is downwards).

Use the three screws removed previously
to install the control P.C. board holder in
the previous position.

Use the ®Terminal screw (M4 x 25) to fix
the @Terminal block in the position shown
in the figure.
¥The @Terminal block has a boss for

positioning. Align the boss with the
positioning hole on the metal plate.

[6] Attach ®Label to the position shown in
the figure.

Refer to the wiring diagram, and connect
the @Lead wire-A that you previously
connected to CN5 on the ®WM-NET board
to CN741 (Color: Red) on the control
P.C. board.

Refer to the wiring diagram, and connect
the ®Lead wire-B that you previously
connected to CN2M on the ®OM-NET
board to the M1 and M2 terminals on the
@Terminal block.

There is no polarity difference.

(Note 1)

If required, connect the shield of the M-NET
transmission wire to the main unit using the
©@Ground wire and screw (M4 x8).
(See the Caution on page 2)

(Note 2)
Take great care that no lead wire is caught
on anything when installing panels.

(6]



4.Installation procedure [ Applicable model:Group B ]

| ——

®M-NET board

Control P.C. board \

Control P.C. board holder

[2]®Lead wire-B

CN2M
co UQ«/
] Oﬂuu@l]l%

.o

B

o

a0

(I, o
ol:l %%o |
@Lead wire-A
[%1]
S
Control P.C. board _
--'.sntnu@: d E
@Lead wire-A 6
\\ X}
&
CN741 = mgimiém v
. el
iy
e e 0

2 [t %J:mm”
[9] ®Fastener E—%
m g e

®Lead wire-B

®Terminal Screw
(M4x25)

@Terminal block

In

=

6] ®Label

\

= L\EB (Note 1) See the Caution on page 2
®Ground wire and screw

Control P.C. board holder (Back)

X
A
d
X
5 0©
®®Ql)
iy o X
X
0 X @
[C] X
=
= ®
=

0
]

®M-NET board

@Terminal block

(2]
L

[%1] Pass @Lead wire-A and ®Lead wire-B through the upper clips (right side) on the
control P.C. board holder.
[%2] Pass ®Lead wire-B through the right clips (upper side) on the control P.C. board holder.

[1] Remove the two screws and remove the
control P.C. board holder.

Attach @)Lead wire-A to CN5 (Color: White)
on the ®WM-NET Board and ®Lead wire-B to
CN2M (Color: White) on the ®WM-NET Board.

Install the ®WM-NET Board to which the
wires were attached in the previous step
to the back of the control P.C. board holder.
%Set the addresses on the WM-NET Board
before installing into the electrical parts box.

%Be sure that the M-NET board is installed
in the correct orientation (so that the CN2M
is upwards and CN5 is downwards).

Use the two screws removed previously
to install the control P.C. board holder in
the previous position.

Use the ®Terminal screw (M4 x 25) to fix

the @Terminal block in the position shown

in the figure.

%The @Terminal block has a boss for
positioning. Align the boss with the positioning
hole on the metal plate.

[6] Attach ®Label to the position shown in
the figure.

Refer to the wiring diagram, and connect
the @Lead wire-A that you previously
connected to CN5 on the ®OM-NET board
to CN741 (Color: Red) on the control
P.C. board.

Refer to the wiring diagram, and connect
the (®Lead wire-B that you previously
connected to CN2M on the ®OM-NET board
to the M1 and M2 terminals on the
@Terminal block.

There is no polarity difference.

[9] Bundle the front and back of the coil
sections of ®Lead wire-B using the
(9Fasteners as shown in the figure.

(Note 1)

If required, connect the shield of the M-NET
transmission wire to the main unit using the
(©Ground wire and screw (M4 x8).
(See the Caution on page 2)

(Note 2)
Take great care that no lead wire is caught
on anything when installing panels.




MITSUBISHI ELECTRIC CORPORATION

HEAD OFFICE : MITSUBISHI DENKI BLDG., 2-2-3, MARUNOUCH]I, CHIYODA-KU, TOKYO 100-8310, JAPAN





